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Question 1 (25 points)

Market model of R-Jordan basketball sha " en by:

whereQd,Qs,and P aredemand gt :
respectively.

a. Find the equilibrium ] i ok. (6
points) e

b. If price is currentl \ igi arket of R-
Jordan? Show a 3 i

c. Because of the ' oes now also enters
the basketba _ ets for both basketball
shoes in De

dpriceofR-Jordanshoes

150 — 3Pr+ 5Py

Qf = —100 + 2Py

QY =100 + Pp— 3Py
QU= -50+2P ’
N

’ QR: demand for R-Jordan, QR: supply of R-Jordan, P : price of R-Jordan;
e f er-Amon0L supply of UndeffAmo riée of Bnder-
)
ind equilibrium price and qE@ntity for R-Jordan and Under-Amor basketball shoes in
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Question 2 (25 points)

One closed economy involves the following equations:

Y =C+1y + Gy
(=a+b¥-T) (e>0,0<b<1)
T=tY (o<t<1)
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(Y: national income, (: household consumption, T: tax, t: tariff, |,: private investment, G,:
government spending, a: autonomous consumption, and b: marginal propensity to consume)

a. Determine endogenous variable, exogenous variable, and parameter from the equation
system above. (3 points)

b. Write the equation system in matrix form: Ax = d. (6 points)

c. Does the equation system have a solution? Explain. (6 points)
(Hint: Check non-singularity condition of the coefficient matrix)

d. Use matrix invers or cramers rule solution to determine national income, household
consumption, and tax in equilibrium con = 400; G, = 200;04 = 140;b =
0,7; t = 0.1. (10points) 3

uestion 3 (25 points

Dreamland economy has the following | 1
F'=C+1,+ G,
C=C+bY—-T) 4
T=To+t! 4

(Y: national income, (: house '
government spending, C,: aut
propensity to consume, anc

= 20%, calculate the
. Interpret your result.

efore and after
to that in point

ues‘ilon4 25 points

- aﬁq I E B U I
where Q,1s demand for good an@P Is price of good:

Blatpsvilamplcavicitaimtant=) at g

points)
b. Demand for car is given by:
Q4= 5000—-50P + 0.5 Y- 0,057
(Q4: demand for car, P: price of car, I: income, dan r: interest rate)

1) Find the change in demand for car when only interest rate changes (ceteris
paribus). Explain. (5 points)

Page 2 from 3



2) Find the change in demand for car when interest rate changes, but allowing other
factors change too. Explain. (5 points)

3) Compare your result in point (1) and (2). What can you conclude? (5 points)
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